CLASS - VII
SUBJECT - COMPUTER

Print dialog box provides different options to suite your printing needs. What print command should be
selected to print first 5 pages of document?

A) Print preview

B) Page setup

C) Print all

D) From To

E) None of these

Semiconductor memories are electronic data storage. They are made up of .
A) copper

B) iron

C) silicon

D) plastic

E) None of these

Windows creates ___ as it is run. Excess of these may slow the computer.
A) Library files

B) System files

C) Virus files

D) Temporary files

E) None of these

Jack creates a document in MS-Word 2007. The text of document contains big gap between two letters.
Which one of the following processes Jack will use to move letter closer together?

A) Kerning

B) Thesaurus

C) WordArt

D) Replace

E) Both (a) and (b)

In MS-Word 2007, which one of the following commands is used to move cursor to the beginning of the
document?

A) Ctrl + End

B) Home

C) Ctrl + Home

D) Tabs

E) None of these

Optical disks are easy to handle, store and port from one place to another due to their __ .
A) Data storage life

B) Compact size and lightweight

C) Single spiral track

D) All of these

E) None of these

Slide show means viewing the slides of presentation in succession. Which one of the following master
views is available in MS-PowerPoint 20077

A) Slide Master

B) Handout Master

C) Notes Master
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D) AIll of these
E) None of these

The main feature of a relational database is that___.

A) It provides a logical relationship between numbers.

B) It consists of separate tables of related data.

C) It provides relationship between numbers and date.

D) It provides a relationship between text and memo data.
E) None of these

These are two special meta tags which have special relevance for search engines. They are __ and __

A) Description, Keywords
B) Description, Name

C) Cookies, Keywords

D) Cookies, Keys

E) None of these

Which one of the following is termed as the combination of hardware and software of a computer?
A) Liveware

B) Firmware

C) Skinware

D) System software

E) None of these

Who developed the idea of logarithm?
A) Juvenile Nonfiction

B) John Napier

C) Charles Babbage

D) Jenni Rainford

E) None of these

Which of the following special characters can be used in file names, in search option.
A) The semicolon (3)

B) The hyphen (=)

C) The period (.)

D) The asterisk (*)

E) None of these

A file has a variety of characteristics. Which one of the following is not a characteristic of a file?
A) Extension name: to identify an associated program that can be used to read it.

B) Size: Shows the space the file requires for storage.

C) Type: Indicates the program used to access the file.

D) Date Modified: Shows the last date the file was created or modified.

E) Above all are the characteristic of a file.

By default the cell content alignment is

A) Justify aligned

B) Centrally aligned

C) Text left aligned and numbers right aligned
D) Text right aligned and numbers left aligned
E) None of these

Assembler translates:
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A) High Level Language into Machine Language
B) Machine Language into High Level Language
C) Assembly Language into Machine Language
D) Machine Language into Assembly Language
E) None of these

What is the full form of BASIC?

A) Beginners All purpose Symbolic Instruction Code
B) Basic All Programme Symbol Integrated Computer
C) Basic All Proper Symbolic Insert Code

D) Basic All Print Syntax Instruction Code

E) None of these

Special effects used to introduce slides in a presentation are called:
A) Effects

B) Custom animations

C) Transitions

D) Present animations

E) All of these

Which one of the following is NOT a function of MS-Excel?
A) AVERAGE

B) ADD

C) MAX

D) MIN

E) All of these are Functions in MS-Excel

What is the correct full form of ARPANET?

A) Advanced Research Projects Agency Network
B) Area Research Projects Agency Network

C) Advanced Research Projects Area Network
D) Advanced Research Network Protocol

E) None of these

In MS-Word, drop cap option applied to:
A) Characters

B) Words

C) Sentence

D) Paragraph

E) None of these

In MS-PowerPoint, which one of the following views helps you to displays thumbnail versions of all

slides in a presentation?
A) Normal view

B) Slide sorter view

C) Slide show view

D) All of these

E) None of these

What is a base 16 numbering system called?
A) Binary

B) Octal

C) Coded decimal
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D) Hexadecimal
E) None of these

A small black square that appears on the right corner of the highlighted cell in a worksheet is called as:

A) Fill Series

B) Fill Handle
C) Fill Dot

D) Fill Square

E) None of these

Which one of the following is the example of application software?

A) Windows

B) MS-Word

C) Antivirus

D) AIll of these
E) None of these

A web server is:

A) a content that we see on the browser window
B) the URL in the add bar in the browser window
C) a Computer that stores all e-mails

D) a computer that store websites

E) None of these

Which of the following is translator?
A) Interpreter

B) Compiler

C) Assembler

D) AIll of these

E) None of these

Which one of the following in computer is capable to store single binary bit?

A) Flip Flop

B) Inductor

C) Bus

D) AIll of these
E) None of these

Computer Virus is a:

A) Biological virus

B) Interruptive program
C) Malfunctioning program
D) Destructive program

E) None of these

In MS-Word, to align a paragraph center, left and right, we do___ respectively.

A) Ctrl + R, Ctrl + L, Ctrl + E
B) Ctrl + E, Ctrl + L, Ctrl + R
C) Ctrl + C, Ctrl + L, Ctrl + R
D) Ctrl + C, Ctrl +Z, Ctrl + R
E) None of these

Match the following:
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Column A Column B

1.Background (A)The area behind the slide elements, or directly behind any individual slide object
2.Chart (B)A graphical representation of worksheet data.

3.Chart area (C)The entire region surrounding the chart, just outside the plot area.

4.Floating palette (D)A palette that can be dragged away from its toolbar.

A) 1-D, 2-A, 3-C,4-B
B) 1-D, 2-C, 3—-B, 4-A
C) 1-B, 2-C, 3-D,4-A
D) 1-A, 2-B, 3—-C,4-D
E) None of these

In MS-Excel, a cell shows the #####i## sign when:

A) the cell contains number/formula that is not correct

B) the cell contains a number, date or time that is wider than the cell width
C) the cell contains a number that has a negative value

D) the cell contains characters instead of numbers

E) None of these

Which one of the following is not the feature of a computer?
A) Heuristics

B) Storage

C) Reliability

D) Accuracy

E) None of these

In ___ each node has a dedicated point- to-point link to every other device.
A) Star Topology

B) Mesh Topology

C) Ring Topology

D) All of these

E) None of these

In MS-Word you can insert hyperlink. By pressing which keys you can insert hyperlink.
A) Pressing Ctrl + K or by selecting Hyperlink from Insert menu

B) Pressing Ctrl + Shift + K or by selecting Hyperlink from Insert menu

C) Pressing Ctrl + K or by selecting Hyperlink from Format menu

D) Pressing Ctrl + Shift + K or by selecting Hyperlink from Format menu

E) None of these

Who is known as the Father of the Super Computer?
A) Seymour Cray

B) Vinod Khosia

C) Haward Aikins

D) CDAC

E) None of these

Jack creates a document. The text of document contains big gap between two letters. Which one of
the following processes Jack will use to move letter closer together?

A) Thesaurus

B) Kerning

C) WordArt

D) AIll of these

E) Both (a) and (b)
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Which one of the following is a programming language that enables the programmer to associate a set
of procedures with each type of data structure?

A) Object language

B) Target language

C) Object ? oriented programming

D) Object related language

E) None of these

Which one of the following keys display the shortcut key for menu in MS-Word?
A) SHIFT + F10

B) SHIFT + F8

C) F10

D) CTRL + F6

E) None of these

Which of the following statements is INCORRECT about iPad Mini 4?
A) It is a fourth generation ipad Mini tablet computer by Apple Inc.
B) It comes with i0OS 9 operating system.

C) It is a smartphone developed by Microsoft.

D) It supports Apple Pay online service.

What is iWork?

A) It is an office suite of applications for OS X and iOS operating systems.

B) It is an internet platform for users to download the new games on iOS devices.

C) It is a website which allows the user to download the songs, pictures, videos, movies, etc. on 0S X
compatible systems.

D) Both [B] and [C]

_____ Feature of Windows 8 Enterprise edition allows you to boot and run from mass storage devices
such as USB flash drives and external hard disk drives.

A) Wingo

B) Windows To Go

C) WinBoot

D) WinGo Loader

____is avideotelephony and VolP software application, developed by Apple Inc.
A) Face Time

B) Facebook

C) Safari

D) Skype

Mountain Lion, Mavericks and Yosemite are versions of operating system, associated with ____
computers, developed by Apple Inc.

A) Windows

B) Macintosh

C) Super

D) Both [A] and [C]

Windows 7 is preceded by _  and succeeded by .
A) Windows Vista, Windows 8

B) Windows Vista, Windows 8.1

C) Windows 6, Windows 7 update
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D) Windows 6, Windows 8

Which of the following is the successor to the Xbox 360, a home video game console developed by
Microsoft?

A) Xbox One

B) Xbox Two

C) Xbox 460

D) Xbox 360 Duo



